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OF:54

1) 22 − 3 × m + 15 = 5²

m =

2) p + (2 × 13) − 16 ÷ 4 = 69

p =

3) 7 × 7 − 36 ÷ d = 45

d =

4) 2.25 ÷ h × 3.1 + 1.4 − 6 = 0.05

h =

5) (2.5 + 1.8) × 3.5 − 2.2 = u 

u =

6) 5 − k ÷ 8 + 3 = 1

k =

7) 2 × n + 4 − 49 ÷ 7 + 6 = 13

n =

8) 3² + 15 ÷ 5 − b + 1 = 2

b =

Fill in the missing numbers.

Find the value of the variable.

23 − + 2 × 3 = 141) 3² + 39 ÷ 3 − 4 × = 22)

1.6 × + 3.9 = 7.743) ÷ 0.5 − 1.5 + 3.5 = 2.54)

(12 − ) × 7 + 19 = 265) 9 × 2² − + 3 = 256)

MISSING NUMBERS
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1) 22 − 3 × m + 15 = 5²

m =

2) p + (2 × 13) − 16 ÷ 4 = 69

p =

3) 7 × 7 − 36 ÷ d = 45

d =

4) 2.25 ÷ h × 3.1 + 1.4 − 6 = 0.05

h =

5) (2.5 + 1.8) × 3.5 − 2.2 = u 

u =

6) 5 − k ÷ 8 + 3 = 1

k =

7) 2 × n + 4 − 49 ÷ 7 + 6 = 13

4

9

12.85

5n =

8) 3² + 15 ÷ 5 − b + 1 = 2

47

1.5

56

11b =

Fill in the missing numbers.

Find the value of the variable.

1523 − + 2 × 3 = 141) 53² + 39 ÷ 3 − 4 × = 22)

2.41.6 × + 3.9 = 7.743) 0.25 ÷ 0.5 − 1.5 + 3.5 = 2.54)

11(12 − ) × 7 + 19 = 265) 149 × 2² − + 3 = 256)

Answer key
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